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1. For any real number x,lim >- =

n-so 1

(A 0 (B) 1

(Q) o (D) does not exist
2. lim¥n-

(A) 0 B) 1

C) n D) =

92 9242 924242
3. Let A be' the series 3 + 3252 | 325272 +

. 1 1 1 2 1 3
letBbetheserleSO—§+§—§+§;—Z+E— ......... then

(A) A converges and B diverges (B) A diverges and B converges

(C) A and B both converge (D) A and B both diverge
. |x2sin E x#0
4. Let f be deﬁned by f(x): X
0 x=0
Then :

(A) f is differentiable at 0 and ll_lgf (x) = £'(0)
(B) f is differentiable at 0 and ll_lgf '(x) = '(0)
(C) f is not differentiable at 0 and }‘1_133 f'(®) does not exist

(D) f is not differentiable at 0 but ll_l’Iéf (x) exist
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Lagrange’s mean value theorem states that : if a function f is defined on

la, b] and is continuous [a, b] and differentiable on (a, b), then there exists at least

one real number ¢ e(a,b) such that :

A) f®) - fa) _ £(0) (B) f'b)-f'(a) - £(o)
b-a b-a

©) f'®)-f'a _ £10) D) fb) - fla) ~ £
b-a b-a

lim = tanx _

x>0 x3 B
' 1

A) 0 (B) 3

C —l D) o«

(C) 3 (D)

If Aix) = [x] where [x] denotes the greatest integer not greater than x, then

[ f@dx=
(A) 0 (B) 3
(C) 31, 2} (D) is not integrable

If P* is a refinement of the partition P and L(P, f, @) and U(P, f, ) denote
the lower- and upper sum of f corresponding to the partition P and a, which

is monotonic increasing function on [a, b], then :

(A) L(P* f, a) > L(P, f, o) and UP*, f, a) < U(P, f, a)
(B) L(P* f, a) < L(P, f, o) and UP*, f, ) < U(P, f, a)
(C) L(P* f, a) < L(P, f, ) and UP*, f, 0) > UP, f, a)

D) LP* f, a) > LP, f, a) and UP*, f, o) > UP, f, @)
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9. If fis continuous on [a, b] and « is monotonic increasing on [a, b, then there

exists a number £ in [a, b] such that ffda=
(A £'(&) (ad) - ala)) (B) f(&) (a(b) — ala))
(©) '(¥) Ab) - fa)) (D) o) (Ab) - fla))

10.  Let {f,,} be the sequence defined by fo(x) = 2 and lg,) be the sequence defined

1
by g,(x) = Ton Then :

A) {f,)is uniformly continuous in [0, %] for k < 1 and (g,,} is uniformly continuous

in [0, £] for & > 0

B {f, »} 1s uniformly continuous in [0, k] for £ > 1 and {g,} is uniformly continuous

in [0, 2] for £ > 0

(C) {f,,) is uniformly continuous in [0, %] for % < 1 and {g,,} is uniformly continuous
in [0, k] for 2 > 0

(D) both {f,} and {g,,} are never uniformly continuous in [0, k] for any positive

real number %
11.  Which of the following is a correct statement ?
(A) Every field is also a ring and every ring has multiplicative identity
(B) Every field is also a ring and every element in a ring has additive inverse
(C) Every ring is a field and every element in a field has multiplicative inverse

(D) Every ring is a field and every element in a field has additive inverse
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12.  Which of the following is NOT a correct statement ?

(A)

(B)

©)

(D)

Every field is an integral domain
Every finite integral domain is a field
Every integral domain is a field

Cancellation law holds in any ring which is isomorphic to an integral domain

13. If UFD denotes unique factorization domain and PID denotes principal ideal

domain, then which of the following is NOT true ?

(A)

(B)

©)

(D)

Every field is UFD

Every PID is UFD

Every UFD is PID

A UFD has no divisors of zero

14. Cayley’s theorem states that :

(A)

(B)

©)

(D)

Every group is isomorphic to a group of permutation
Only finite groups are isomorphic to a group of permutation
Every group of prime order is cyclic

Every cyclic group is abelian
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15.

16.

17.

18.

If0=(12 3456 and 1 12345 6] are two permutations in the
314586 2 1241365

Symmetric group Sg, then g2 =

123456 123456
(A) (B)
642153 234561

y (123456 123456
) 324561 D 194156 3

The number of generators of cyclic groups of orders 6, 8, 12 respectively are :

(A) 3,4,6 (B) 2, 4,4

C) 2,4,6 D) 2, 4,3

Which of the following is NOT correct ?

(A) Every subgroup of a cyclic group is cyclic

(B) Every subgroup of an abelian group is a normal subgroup
(C) Every subgroup of an abelian group is cyclic

(D) Every group of prime order is cyclic

Let Z and Q respectively denote the set of all integers and all rationals, then

all the units of the rings Z + Z and the ring Q respectively are :
A 2,1

(B) (1, 1), 1, -1), (<1, 1), (-1, -1) and all non-zero rationals

(C) (0, 1), (1, 0), (<1, 0), (0, 1) and all non-zero rationals

D) (0, 1), (1, 0), (-1, 0), (0, -1) and 1, -1

TBC : RT/SL/Mts/P2/2024—A 6
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19.  Which of the following is NOT correct ?

‘ (A) Every subgroup of an abelian group is a normal subgroup
(B) A factor group of a cyclic group is abelian
(C) A group is simple if it has no proper normal subgroup
(D) A group is simple if it has no subgroup

20. If H and K are finite subgroups of a group G, then :

IH| K| H| K|
(A) |HK]|= HK| = 28
HUK| ®) |HK|=
IHUK]| HA K|
(C) |HK|= HK|= 2N &I
HAK| @) HK|=J7er

21. A set A in a topological space X is said to be compact if :
(A) Every open cover of A has a countable subcover
(B) Every uncountable open cover of A has a countable subcover
(C) Every open cover of A has a finite subcover

(D) There exists an open cover of A which has a finite subcover
22. In a topological space X, which of the following is NOT correct ?

(A) Arbitrary union of open sets is open

(B) Finite intersection of open sets is open

(C) Finite union of open sets is open

(D) Arbitrary intersection of open sets is open

TBC : RT/SL/Mts/P2/2024—A 7 P.T.O.




23, Let A be the open interval (—1, 1) and let B be the closed interval -2, 2] i,
the real line R Then

(A) A is an open set and B is also an open set

(B) A is a closed set and B is also a closed set

(C) A is not open and B is also not open

(D) A is an open set and B is a closed set

Given the following differential equations :

@  3x%y dx + O + x3)dy =0

®)  xy dx + y2 dy = 0.

Then :

24.

(A)  the equation (a) is exact and the equation (b) is also exact
(B) the equation (@) is exact and the equation (b) is not exact
(C)  equation (a) is not exact and the equation (b) is exact

(D) the equation (a) is not exact and the equation (b) is also not exact

25.  Given the following differential equations :
(a) yn _ y = 0
(b) 2exym + exyu - 1.

Then :

(A) the differential equation () is homogeneous and the differential equation

(b) is non-homogeneous

(B) the differential equation (a) is homogeneous and the differential equation
(b) is also homogeneous

(C) the differential equation (a) is non-homogeneous and the differential equation
(b) is homogeneous

(D) the differential equation (a) is non-homogeneous and the differential equation
(b) is also non-homogeneous
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26. Consider the differential equations :
@ " +y +@@+1+Ay=0
B) ey"+e%y + =0
with the boundary conditions y(0) = 0, y'(1) = 0. Then :
(A) (@) is a Strum-Liouville problgm (b) is a Strum-Liouville problem
(B) (@) is a Strum-Liouville problem (b) is not a Strum-Liouville problem
(C) (a) is not Strum-Liouville problem (b) is a Strum-Liouville problem
(D) (a) is not Strum-Liouville problem (b) is not a Strum-Liouville problem

27. Let V be a vector space over a field F. Let B = {a;, ag, ....., a,} be a finite non-

empty subset of V. Let <B> denote the span of B. Then which of the following

is NOT valid ?

(A) <B> is the set of all linear combinations of B
(B) <B> is a subspace of V

(C) If a subspace W contains B, then <B> c W

(D) <B> is the largest subspace of V that contains B

TBC : RT/SL/Mts/P2/2024—A 9 P.T.O.



S A
1 Lo = 1)7 g = (1’ 1),
28.  Consider the vector space R2. Let ay = (1, 2), oy = (2, 3

. o ’
%4 = (0, 0), os = (1, 3). Then which of the following 18 NOT true

(A)

% and o, are linearly independent

(B) %1, %9 and aq are linearly dependent

©)

%4 and oy are linearly independent

(D)

@4 and oy are linearly dependent

29.  Let W, and W, be two finitely generated subspaces of a vector space V over

a field F. Then which of the following is NOT true ?

A W, + Wy is finitely generated

(B) dim (W, + W,) = dim (W) + dim (W,)

(© dim (Wy + Wy) = dim (W) + dim (Wy) - dim (W,NW,)

(D) there exists a subspace W3 of Wy such that W, =(W,nW,)+W,

30.  For any n x n matrix A over a field F, three of the below statements are equivalent.
Find the statement which is NOT equivalent ?
(A) Rank (A) = n
(B) A is singular
(C) A is non-singular
(D) The solution space of the system of homogeneous linear equations
AX = 0 is the zero space
TBC : RT/SL/Mts/P2/2024—A 10



31.  The eigen value of the matrix ;) ;] is

(A) 2 (B) 3

) 4 (D) 5

2 -1

32.  The eigen value A and the corresponding eigen vector u for the matrix {_2 3 |

are :

A A=Lu=Q,D;r=4,u=(Q1, -2

B r=1Lu=(Q1Q,-2;r=4u=(@1,1)

C) 2=2,u=(2,3;r=3u-=(1,-2

M 2=-2,u=(2,3;r=-1u=(23)

3-51 2+4i
1S :

33. The conjugate transpose of a matrix A = [6 T 1+8i

| 3i-5 2+4 3i-5 6i+7
Q) 1gi+7 i+8 B) lojtqa is+8

3+5i 6-Ti 6+7i 1+8i
© |o_4i 1-8i D) |3 5 9244
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34.  With the usual notations, the equations of 0sct

rectifying plane respectively are :

(A) (R—r).b=0,(R_r).t=0,(R"r)’n=

=0

(B) (R—r)-b:o,(R_r).n=O,(R”)'t
=0

© R-r) . n=o R_r) t=0R-T"D
1

® R-r).b=1,R-r).-t=1R=-7 "7

35.  With the usual notations, the Serret-Frenet formulae are -

Q) t'=n,n'=1w -« b = —«xn

B) ' = «n, n'  -«xt, b' = -n
(©) ' =xn,n' =1 +«t, b =n

D) t'=-n,n" =1+« b = —xn

cx?2 0<x<3

36. If the function f(*) ={

0 otherwise

1s a density function, then the value of ¢ must be :

A) 9 (B)

€ 3 D)

Wk O

normal plang an

' x
37.  If density function of a random variable X is given by flx)={ 2 Osx<2

then the expected value E(X) =

(A) B) 1

W N

(D)

W[

©

TBC : RT/SL/Mts/P2/2024—A 12
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38. If X is a random variable having mean p and variance 2 which are finite.
Then if € is any positive number, then :

A) P(|X-p|ze)< :—:

(o

B) P(X-pl2e)<2
€

(©) P(|X—u|2e)s%

(D) P(|X—p|ZE)S—Z—

39. A random variable is said to have Student’s ¢-distribution with v degrees of freedom

if the random variable has density function fit) =

£2 -(v+1)/2

(1 - —) , —o<t<wo
#2 (v+1)/2

(1 + ——) , —o<t<wo
$2 —-(v+1)/2

(1+ —) , —o<t<o®

t2 (v-1)/2
(1+—) , —o<t<w

TBC : RT/SL/Mts/P2/2024—A 13 P.T.O.




A

40. , covariance of X

0 If X and v are two continuous random variables, then the anq
Y is given by Cov (X Y) =
WOBX + V) -y B EXuUY)-EXNY)
© EXY) - (Bx) + gy D) EXY) - EXEY)

4L IfX = la, b, ¢}, then which of the below is NOT a topology on X ?
@A) 1= (X, ¢, {a)
B) 1= X, ¢, {a}, b}, {a, b))
© =X ¢, la), ), o)
D) = (X, ¢, {a), ), (e, la, b, b, cl, lc, al)

2 LetX =la,b,¢c.d el and t = X, ¢, lal, la, ], la, <, d), (0, b, ¢, d), a, b, el)
then the derived set of {c, d, e} is :
(A) {a} (B) {a, b}
(C) Ac, d} D) fe, d, e}

43. If C is a connected subset of a topological space X which has a separation
X = A|B, then :
(A) Cc A and CcB (B) either Cc A or CcB
(C) either AcC or BcC (D) either A = C or B = ¢

TBC : RT/SL/Mts/P2/2024—A 14
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44. n a topological space if i (A) denotes interior of A and c(A) denotes closure of
A, then :

(A) (A UB)=iA)uUiB)

(B)  c(AnB)=c(A)nc(A)

©) iGA) = A

(D) If A and B are open sets, then i(c(A N B)) = i(c(A)) N i(c(B))
45. Which of the following statements is NOT correct ?

(A) Every subset of compact space is compact

(B) Continuous.image of compact set is compact

(C) Every closed subset of compact space is compact

(D) Continuous image of connected set is connected
46. Let X = {a, b, ¢} and 1 = {X, ¢, {a}, {b, c}}, then (X, 1) is :

(A) regular and T, space (B) regular but not T, space

(C) not regular but T; space (D) not regular and not T; space
47. Which of the following is NOT true ?

(A) Every Hausdorff space is a T, space

(B) Every T, space is a T3

(C) Every regulaf space is completely regular

(D) Every metric space is T, space

TBC : RT/SL/Mts/P2/2024—A 15 P.T.O.



48.

49.

50.

] onsisting of ¢ and all complements
ily con=w

Let X be an uncountable set and t be the fam

of countable sets, then (X, 1) 1s :
(A) not a topological space

(B) Ty space but not T, space
(C) T, space but not T3 space
(D) T3 space but not T4 space

Let (X, 7) and (X*, t*) be topological spaces. Then which of the following is NOT

equivalent to (A) ?

(A) f: X - X* is continuous on X

(B) If V is any open set in X*, then f “1(V) is open in X

(C) If V is any closed set in X*, then f~1(V) is closed in X

(D) If V is any open set X, then f(V) is open in X*

Which of the following is true ?

(A) Connected topological space is arcwise connected

(B) Arcwise connected topological space is connected

(C) An open and connected subset of the plane is not arcwise connected

(D) None of the above

TBC : RT/SL/Mts/P2/2024—A 16



52.  The function f(z) = S22 has :
z
(A) pole at 0
(B) isolated essential singularity at 0
(C) non-isolated singularity at 0
(D) removable singularity at 0
53. Let flz) = ulx, y) + i v(x, y) be analytic in a region D. Then :
ou _v ov_ou
u_ov v _ ou
ou__ov v _ou.
(C) o - ay ’ ox a_)’
ou__ o v _
() oy’ ox dy
TBC : RT/SL/Mts/P2/2024—A 17

Let A be

complex plane C. Then :

(A) Ais an open set and B is a closed set
(B) A is open set and B is also open set

(C) A'is a closed set and B is also a closed set

(D) None of the above

the open interval (-1, 1) and B be the closed interval [-2, 2] in the

P.T.O.



-7

2n

o4. : o 2 is
The radius of convergence of the series Zn=1;”llT !
. . . Then the va]
55. Let ﬂz) = .[r e’z d> where [ is the unit circle e:ﬁ’(()s 0< 2m) ue
of A2) is :
eﬁne
&) cos O B) 0
O « (D) does not exist
56. A Mobius transformation which maps 2, i, -2 to the point 1, i, ~1 respectively
1s : "
3z-2i 3z+2i
A
W =+ B) Z+6
3z2+2 3z+2i
© z+6 (D) iz+61
z-3cosz
O L
(=-3)
2
&) 8ni ®) 3
1 .
(C) 8n (D) gM
TBC : RT/SL/Mts/P2/2024—A 18




58. The Taylor's serieg expansion of log z in |z — 1| < 118
A z-1+E-D -] (-1 (z-1)
@) (2 1)+T+23) +oeenns B) (z-1)- 2_5 + - 3 T
© (z-1+-D -1 (z-1?  (z-1)°
Tor TR (D) (z_l)_l_zl/'*-—-?ﬁ!‘ e
59. The function f(z)= ez has 0 as :
(A) removable singularity (B) pole
(C) non-isolated singularity (D) isolated essential singularity
60. Let f(z2) = z+3 Then th id h | f f are :
2 95 en the residues at the poles 0 :
3 5 3 5
(A) 5 and 5 (B) __5 and 5
3 5 3 5
(®)) 9 and 5 (D) __2_ and ._.2_
61. Let (X,| [[) be a normed linear space. Then for x € X and a scalar :
A) o x| =lellllxll B) o x| =lcllxl
(©) | x| =lalll D) |ax|=lallx|
. 1
62. On the linear space /P.(n) define the norm by |lxl, =(Z:‘=1|xi|p)p for
x = (xq, Xg, woveee , x,,). Then P (2) is not a normed linear space if :
(A) 0<p<l1 | B) p=1
(C) 1<p<2 D) p=2
TBC : RT/SL/Mts/P2/2024—A 19 P.T.O.
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63 —~> Yhea lingg,

- tT: X
Let X and Y be normed linear spaces over a field K. L

. ivalent condition 9
Operator, then which of the following is NOT 1n the equiva

(A) T is continuous at the origin
B) T is continuous

(C) T is bounded

D) Tis unbounded

64. LetXany Y be normed linear spaces over a field K. Let T : X - Y be a boundeq
linear operator, then which of the following is NOT correct ?

(A) ITl = sup {k:k>0and IT @)y < Elxl, , forall xe X}

(B) ITl = sup {IT @)y :xeX, llxl, < 1}

©) ITl= sup {||T (Jc)”Y xeX,llxll, = 1}

D

N’

T = sup{”T(#)IIY rxeX, x# 0}
lcllx

65. Let X and Y be normed linear spaces over a field K. Let T : X — Y be a surjective

linear transformation. Then T is a topological isomorphism if and 6nly if for every

xeX:

(A) there exists a constant 2 such that IT@|y <k lxlx

(B) thpré exists a constant k£ such that | x|y <k|T()|y

(C) fhere; exist constants ky, kg such that k lxlx <|T(x)|, < k, lxllx
(lD) None of the above

- TBC : RT/SL/Mts/P2/2024—A 20



. Ifx, ya '

66 Y are any two vectors In an inner product space X, then :
(A)  <x,y>|<|x] ||l

B) |<x,y > > x| Byl

©) |<x,y>|<lxl|y]

M) |<x,y >|2 x| |y|

67. Let (X’ I ”) be a norm linear space over the field C and which satisfies the

parallelogram law. Then this can be made into an inner product space by defining

the polarization identity which is given by <x, y> =

1 2
@ Lol =5 vifl ol - e 7))
1 ~( 2 2) . .2 . i2)]
B) e+ 5l == 51*) =i (e + iy - - iy )
17 L e
© LUz o+l =51) i (f+ ool - - i)
17 2 2\ . . 2 2\
© [+l + =)+ il + ol + - o)
68. If {eq, eg, weoveennns e, is a finite orthonormal set in an inner product space X.

Then for any xe X :

(A) Z'.'=1 < x,¢ >| < |l B) Y. |<xe >|2 <|lxl?
© (x-e)LXlil<®e ] D) xL0|<xe >
TBC : RT/SL/MtS/P2/2024——A 21 P.T.O.




| Hilbert space H. Ty,
®9. LetTe B (H), the space of all bounded linear opera'tor 0:t the statement whic:
three of the below statements are equivalent. Point ©

is not equivalent ?
(A) T is normal
B) Tis unitary
(C) T is surjective and <T(x), T(y)> = <x, y> for all x,yeH
(D) T is surjective and [T (x)|=|x| for all xeH
70. Let X be a normed linear space and X* be its dual space. Then :

- (A) X separable implies X*-is separable and the converse is not true
(B) X* separable implies X is separable and the converse is not true
(C) X separable if and only if X* is separable
(D) None of the above

71.  Let f: X > Y where X is a measurable space and Y is a topological space. Then

f is called as measurable function if :

(A) for every open set V of Y, f~1(V) is open set in X

(BS for every measurable set V of Y, f71(V) is measurable set in X
(C) for every open set V of Y, f~X(V) is measurable set in X

(D) for every measurable set V of Y, f~1(V) is open set in X
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7. Let f(x):{1 if 1<x<3

5
otherwise ’ then Io flx)dx =

A) 5
( (B) 3

€ 2

(D) does not exist

1 if xisirrational numberin [-4,4]
-2 if x isrational numberin [-4,4]’

B Let f (")={ then [, f(x)dx=

(A) 4 B) 8

© 12 , (D) does not exist
74. If A; and A, are measurable subsets of la, b], then :

A) m(A))+mA,)=m(A UA,)+m(A NA,)

B) m(A,)+mA,)=m(A UA,)-m(A, NA,)

©) m(A,)+mA)=m(A UA,)

D) A1UA2 and A, NA, are not measurable

75. Letf:la,b) > Rand P = (@ = xg, X, Xg, -y X, = bl be @ partition of [a, bl.

Then the variation of f over [a, b] with respect to partition P is defined by

Ve (P,f) =
(A) Z:zl(f(xk)—f(xk_l)) (B) Z:=l|f(xk)—f(xk_l)|
v Fp - Fa )
p n —
(C) (Z:zllf(xk)—f(xk_l)\p) ,pz1 (D) [ZH k ; = ,p#0,1
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76.

77.

78.

N

Let E be g given set -

.t an open set GO E sycp
(A) If E is measurable then given ¢ > 0, there exists an oP

nverse is not trye
that the outer measure m*(G - E) < . And the co

he outer measure
(B) If given ¢ 0, there exists an open set GO E such that t

is not true
m*G - E) < €, then E is measurable. And the converse

i ter measur
(©) Ifgiven e 0, there exists an open set G o E such that the ou e

is also true
m*G - E) < €, then E is measurable. And the converse 15 a

(D) None of the above

Let (X, d) be a metric space and A, B be subsets of X. Let A° denote the interior
of A. Then :

(A) (A°)'n (A"’ is the boundary of A
(B) A°cB° implies A cB

(C) (AUB)°cA°UB°

D) A°UB°c(AUB)°

If p is a prime and p 4 a, then :

(A) aP*l = 1 (mod p) B) @1 =1 (mod p)

I}

(C) @ -1 =1 (mod p) D @ =4 (mod p)
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79.  All the positive iy,
tegers a, b that satisfy the equation ¢(ab) = o(a)+ d(b) where

¢ is the Euler'g function are -
(A) 2,283,344
B) 2, 3; 3, 4; 4, 3
©) 2,23, 4; 4, 3

80. Wilson’s theorem states that if p is a prime then :

A) @ = 1'=0 (mod p)
© ® - 1!'= 1 (mod p

M) @)! =0 (mod p)

81. The ultimate purpose of Gandhian education is the :
(A) Creation of a classless society
(B) Development of a human and awakened society
(C) Promotion of human beings
(D) Salvation for all

82. Education was brought in concurrent list according to which amendment of

Constitution ?,

(A) 41st amendment of Constitution
(B) 42nd amendment of Constitution
(C) 43rd amendment of Constitution

(D) 44th amendment of Constitution
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83.

84.

85.

86.

“Free and Compulsory Education” was recommended by
(A) Secondary Education Commission
(B)  National Education Policy-1968

(C) Kothari Commission

(D) National Education Policy-1986

Which committee Was set by government of India in 1990 to review the

implementation of National Policy on Education 1986 ?

(A) Ramamurti Committee (B) Janardan Reddy Committee

(C) Yashpal Committee (D) Kasturirangan Committee

Which is the first school for a child’s education ?

(A) Society (B) Friends

(C) Family .‘ (D) School

Which Committee was appointed to suggest improvement in the University

Education system ?.

(A) Whitley Commission

(B) Philip Hartog Commission
(C) Lord Chancellor .Commission-

(D) Sadler Commission |
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Exchange of {de

s 2

as b(\»
tween two or more persons 18

(A) Understanding B) Tell
5 elling

(C)  Communication (D) Speaking
a

o 2]
s 2]

You . . N . .
are training in public speaking and debate. Which of the following
characteristics can you not expect to develop ?

(A) Concept
(B) Control over emotions

(C) Using language creatively
(D) Voice modulation
89. Which of the following is the incorrect pair ?
(A) Sign Theory of Learning — Tolman
(B) Field Theory of Learning — Lewin
(C) Social Learning Theory — Bruner

(D) Trial and Error Theory - Thorndike
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90.

91.

92.

93.

i P inner’s Operant
Which of the following principles is used in shaping behaviour In Skinne p

Conditioning ?

(A) Principle of keeping the response simple and specific
(B) Principle of keeping the response soft and sweet

(C) Principle of successive approximation

(D) Principle of reward and punishment

Which one of the following is NOT a web browser ?

(A) Firefox (B) Facebook

(C) Chrome (D) Safari

SWAYAM is a portal for :

(A) Promoting high quality education
(B) Improving access to high quality education
(C) Telecasting high quality educational content free of charge

(D) Both (B) and (C)

Government has approved the SWAYAM Prabha project for operationalising how

many DTH TV channels ?
A) 32 | (B) 33

(C) 34 (D) 35
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o4. RAM is placed op :
(A) Hard Disk
(B) Extension board
(C) Motherboard
(D) USB

95. Which of the following Commission/Committee was required exclusively to address

Teacher Education of India ?

(A) Yashpal Committee

(B) Justice Verma Committee

(C) National Knowledge Commission

(D) Mudaliar Commission

- 96. The ‘Internship Programme’ in teacher education has been provided to help:

(A) The teachers in school

(B) The student teachers in the training programme

(C) The teachers educators in the training institutions

(D) The principals of the schools where internship is conducted
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97. At the district level which of the following institutions has been entrusted with
the responsibility of in-service teacher education for primary and elementary
schools ?

(A) CTEs (B) IASEs
(C) SCERTSs (D) DIETs

98.  Broad functions of SCERT are :

(A)  Design and development of integrated teacher education courses of four year
duration

(B) Preparation of a code of professionalism ethics for teachers

(C) Accreditation of teacher education institutions and their monitoring

(D) Development of curriculum, textbooks, training, research and innovation

99.  Which of the following institutions is directly responsible for the professional
growth of school teachers in India ?

(A) NCERT (B) NAAC
(C) NIOS (D) IGNOU

100. Sarva Shiksha Abhiyan (SSA) adopted which of the following ?
(A) Zero Resource Rdom Policy
(B) Zero Rejection Policy
(C) Zero Acceptance Policy
(D) Zero Failure Policy
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